NOTES:

1. This proprietary balustrade system complies with New
Zealand Building Code Clauses B1 Structure, B2 Durability, F2
Hazardous Building Materials and F4 Safety From Falling
Third Edition, subject to:

-all products meeting their required performance specification

-site installation carried out in accordance with the intent of
this drawing

2. Based on design loads from AS/NZS 1170.1 and a
maximum uls wind pressure of 2.13 kPa (extra high wind
zone), maximum span between posts and glass thicknesses
are:

\V

\V/

Residential occupancies A, A(other) & C3 of Table 3.3
AS/NZS 1170.1:

Span between posts -1650mm

Viridian safety glass options according to 22.4.3. of NZS
4223.3:2016 are:

a. 10mm toughened glass with interlinking rail
b. 11.2mm toughened laminated glass
c. 11.52mm toughened SentryGlas laminated glass

1. Viridian 10mm toughened safety
glass with interlinking rail, or

2. 11.2mm toughened laminated
safety glass, or

Interlinking rail must be connected to Milano posts, adjacent
glass panes or to the building.

A\

. FACE MOUNTED
I 3. 11.52mm toughened Sentry
! laminated safety glass

|
3. The design of the concrete support is the responsibility of y
others.

4. A handrail of 32-50mm diameter is required for stairs and
ramps exceeding 1:20 slope. Refer NZBC D1/AS1.

5. Use grade 316 stainless steel fixings and washers ﬂ Wﬂrm
TOP MOUNTED

6. Duratec powdercoat or 25 micron anodised finish is
recommended for installations within 100m of the coast

T

This post is protected by Design Registration #
413097 in New Zealand

date drawing no

EUo RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS 27-7-16 MER-1c

scale
A division of Viridian Glass Ltd Partnership



1000 - 1100

Ah_:._.;::::D
25 MPa concrete. IR

Refer note 4

ERPFC post

Maximum spacing
1650mm

This post is protected by Design Registration #
413097 in New Zealand

SUO RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS

A division of Viridian Glass Ltd Partnership

100 max

M8 csk bolt. Installer to apply Duralac
DTD369B to bolt, cap and bar before fitting

R ~ Interlinking rail is required for
10mm toughened safety glass.
Refer notes 2 & 5

10mm toughened or 11.5mm
toughened laminated glass

Ramset Epcon C6 anchor with M12 T316
s.s. threaded rod, 50x50x3 washer and
insulating nylon bush and gasket

Stainless steel cap.

270

o
©

150

60

110

Refer note 7.

150

Aluminium cap

date

scale

— Duralloy powdercoated aluminium post.

M12 x T316 s.s dome nut, washer, spring
washer, insulating nylon bush and gasket

drawing no

27-7-16
MER-2e



M8 csk bolt. Installer to apply Duralac

DTD269B to bolt, cap and bar before fixing

10mm toughened or 11.5mm

N — 11 toughened laminated glass

— Interlinking rail is

b required for 10mm

N toughened safety glass.
Refer note 2 & 5

Ramset Epcon C6 anchor
with M10 T316 threaded rod

1000 - 1100

25 MPa concrete /

Refer note 4

ERPTC post

Maximum
spacing 1650mm

This post is protected by Design Registration #
413097 in New Zealand

4

N

Stainless steel cap

Duralloy powdercoated aluminium post.
Refer note 7.

M10 x T316 s.s. dome nut, washer, spring
washer, insulating nylon bush and gasket

-4 8
=
g
50
130
20 20
e Y 1o
O O+
/_
S
¥
O
\ J

SUO RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS

A division of Viridian Glass Ltd Partnership

date drawing no

2-6-16

scale

MER-3d



M8 csk bolt. Installer to apply Duralac
DTD369B to bolt, cap and bar before fitting

/Stainless steel cap

JuT

10mm toughened or 11.5mm —+—— Duralloy powdercoated aluminium post.
T toughened laminated glass Refer note 7.
\’:\)‘= Interlinking rail is
: required for 10mm
A toughened safety glass.
Refer note 2 & 5 . _ .
50x50x3 s.s washer with nylon msqlatlng M12 x T316 s.s bolt, washer, spring
washer and gasket tgtzgrzgzt(;lzt;lmiﬁ \ washer, insulating nylon bush and gasket
o
o
= o
. _—— )
S S x
S T316 s.s nut & 50x50x3 washer e
o
® &  FIXING DETAIL A
[Te)
Tt Pp— o
é \
c 0 Aluminium cap
S|k
=P
-
i
B :::D ii FIXING DETAIL B
| i
X
i
Tr
ERPFBT post i
Maximum spacing
This post is protected by Design Registration # 1650mm ERPHBT PO_St
413097 in New Zealand Concealed fixings

date drawing no

EUro RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS 2:6-16 MER-4c

scale
A division of Viridian Glass Ltd Partnership



M8 csk bolt. Installer to apply Duralac
DTD369B to bolt, cap and bar before fitting

/Stainless steel cap

T

10mm toughened or 11.5mm —=1—— Duralloy powdercoated aluminium post.
i = toughened laminated glass Refer note 7.
{:‘)= Interlinking rail is
: required for 10mm
RN— toughened safety glass.
Refer note 2 and 5
o
o
S
o M10 x T316 s.s bolt, washer
& spring washer
l«— Rigid timber decking

X

®

S i

o =

o 140x45 nogging ———— ==

designed by others

\ 50x50x3 ss washer

Timber design by others /

ERPTT post

Maximum spacing

This post is protected by Design Registration # 1650mm

413097 in New Zealand

date drawing no

2-6-16

EUro RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS o MER-5a

A division of Viridian Glass Ltd Partnership



Apply Simson ISR
70-08 sealant to post
before placing glass

6 x 3mm thick
PD169 tape

2 x 50mm long x 6mm thick
single-sided tape stuck to edge

Y

of glass
Dow Corning 580 silicone to / EPL 25031 - o
ap, both sides of glazing bar : Dow Corning 580 silicone to gap,
gap glazing backing rubber both sides of glazing bar
NO GLASS JOINT GLASS JOINT

GLAZING DETAILS

This post is protected by Design Registration #
413097 in New Zealand

date rawing no
EUlC RESIDENTIAL BALUSTRADE SYSTEM WITH MILANO EUROPOSTS #1012 D

scale
A division of Viridian Glass Ltd Partnership



	MER-1
	MER-2
	MER-3
	MER-4
	MER-5
	MER-6

